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I 23 mwn: application limited to a matter which carries n7 for m and nxon for mw (same for error of 3"n3), inferred from 1"y
a  Per: w5y (vvl-2), extends to 313 via v3; Rw1 via mixn::nen (vv 4-5); individual via ory (v6)
i Challenge: for 1127 (contra »a7) who use n9y (v2) for rule of mnx 7va (012), what is their source?
ii ~ Answer: vv 7-8 — entire nmin is modeled after 1y — if T is N3 >V is nRvN; everyone included per vv 1-6 above
1 Challenge: how does »a1 apply v7?
2 Answer: in spite of capital punishment for 1"y distinguished between community (90 —property destroyed)
and individual (n%’pv - property bequeathed to heirs) — 129p for mw is the same (NnNX n1N)
(a) Block: what else could the m1ax bring that isn’t already part of another system (e.g. 1’»® or nawa)
(b) Answer: could bring 18 as nkon and Yw as ny (flipped) or require 1193 but cannot do so (Mpn 17 PRI PIX)
iii  Observation: all agree that 10 7201 is about 1"y — per vv. 9-11 (some combination thereof)
1 Note: v. 10 rejected, since the earliest n11¥n we got were at N, 1"y not included there
II 7 mwn: limitations of liability of 772 and »"n3
a  No liability: for n”) nwy relating to the wpn
i Parenthetically: there is no ">n WK for a possible violation of WTpn NrMY
1 Source: DWR::DWR (VV. 5-6) — only for Nyap nrvN Pav
2 Challenge: 79 19 also uses nwr’ (v12) — should have »o>n nwr
(a) Answer: DVR~=DVR?
(b) Challenge: we read 2181y (vv. 13-14)
(i) Additional challenge: we have DWRY in YW wIpn NRML (v 15)
(ii) Answer: require DWRY and NPWYN RY TWR ‘N MxN (common to NY1ap NRON — not in TN 1Y)
b However: they are liable for nwy of N1 (nTan 1n wi19) and for the n”> of N (MR’ MO’R) — and there is "Yn DWR for those
I n mwn: further limitations — not liable for MTYn NY12w, WTPNR NRMV or NV’a Naw (all have T N 127p)
a 25701 7. same applies to R (exempt from all 3)
i Source: v.12 - only liable for any of them if can be liable for all
1 Challenge: why not read nnx% — could be liable for any of them independently?
2 rather: vv. 16-17 imply someone who could be rich or poor — 3"n3 and ®'w1 are out
(a) avwrx perv. 4 -someone who has only ’'n over him
(b) 477 per v. 18- if need be, he is enriched from his brother 02
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»77. 01 only exempt from mTvn n»aw, since he cannot testify (2:1 p17M0)
i ap72x Y™ exempts 3”3 from all 3, since the only nnin he can be obligated to bring is 3”13 'n»an (v19)
ii ~ Challenge: perhaps that only excludes him from the poorest (nnin) but not the middle level (birds)?

1
2
3

Answer: v12 implies that anyone who is “in the system” must be fully in
Challenge: in our mwn, »" includes 8w for only 2 -excludes from p nynw
Answer: nnrn implies full inclusion (for different levels) — nnx5 allows for liability for one of the 3 violations

IV 1 mwn: naap for various violations done aw3a; only if Tm->n73 (for 1"y unique 1277 is brought)

Individual: she-goat or ewe / for "y — she-goat

~7w1— male goat/for 1"y — she-goat

2771 bull ("n79)/ for 1"y — she-goat

7 1722 bull ("m219)/ bull (%) and male goat (nxon)

i ap772w™'s rule — any violation for which individual brings »%n nwx — ®'w1 brings same, 7”2 and 1”13 exempt

a

b
d
d

1
2

And: anything for which you bring '8 nwr — all are liable except 1”2
And: all but 772 are liable for T n%y
(a) Exceptions: XR*w1 exempt from Y1p nynw
(b) And: »"n3 exempt from WP NRMY
(i) Reason: per v21 — only applies to one whose 1193 is the same as the 5np
1. Challenge: X*w1 should be exempted on the same grounds
2. Defense: ®w1 is the same as Ynp on 3”0y (NYnwnn YY)
a.  Challenge: if so, all D103 should be exempt (71792 via 3”12 Y¥ 79 on 2"nY)
b.  Defense: m1n3 have regular n93 the rest of the year
i.  Block: ¥"n3 has regular n193 for other nnxn
(if) Rather (8¥27): v21 — exempts one whose 1193 is not the same as individuals (9np)
And: ®ow1 is liable for T 0%y, but 3”n3 and 7”1 are exempt
(a) Challenge: last rule contradicts previous one re: 3"n3
(b) Resolution (»*17 /7772 81777 *7): "3 exempt from all re: nman (M57 57) but only wTpn NRMY re: MYT (birds)
(c) Observation: v"™ agrees with ™ re: m>7 57 but disagrees re m>7

V1 mwn: parameters of liability for mnwX1 mrvn (summary of previous mnwn)

2151 owx: only individual and w1 are liable; 3”n> and 772 exempt

'NT) DK all liable except for 772

77171 751 all liable except for 172

i w7 3N exempt from liability for w1pn nkmo

ii ~ &”7in these cases, X*w1 brings yw (his usual nron) and not 71 N9y (which starts with nawa/nyw)

a
b

C

1
2

7212 /7. 19K "1 only applies this to WTpn nkmMY, since it states N3 (like regular nxvn)

Support (97): since ®'W1’s PYW::3"N2’s 19 and he would have said 3"n3 brings 79 for other 2

(a) But: his not saying that indicates that it is only wTpn nkmv (for which 173 is exempt)

(b) Challenge: perhaps 8™ applied it to all and he holds like "1 who exempts 3”13 from all
(i) Block: y™ doesn’t exempt from the 19 - QED

iy ‘1. R"™ agrees that a X*w1 doesn’t bring nwr

N before nww /7. there is %N DWR for VTP NRML

(a) w7z per ®™? But 1Ny "1 already taught that w1 doesn’t bring n%n DWR - WP
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